NUHpopmauua no MK OO0 YO "Oaumn" Ha 31.12.2018r.
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1 2 3 4 5 6 7 8 9 10 11 12 13 |14 15 16 17 18
1 |30 net B/JIKCM 175 4217,3 3251,4 3048,2 203,2 4 5 57 1982 6660 74:31:0102018:5 1 | MHOrokBapTUpHbI naHenb/x/6 NAOCKadA | ueHTpasibHoe
2 |30 net B/JIKCM 175A 4145,2 3164,6 3164,6 0 4 5 60 1987 4868,2 | 74:31:0102018:39 1 | MHOrokBapTUpHbIN naHenb/x/6 NNOCKadA | ueHTpanbHoe
3 |30 net BJIKCM 1756 4264,6 3249,2 3249,2 0 4 5 60 1988 4140 74:31:0102018:36 1 | MHOrokBapTUpHbI naHenb/x/6 NJIOCKaA | ueHTpaabHoe
4 130 net BJIKCM 177 4228 3235 3235 0 4 5 60 1981 3863 74:31:0102018:38 1 | MHOrokBapTUpHbIN naHenb/x/6 NNOCKasA | ueHTpanbHoe
5 130 net BJIKCM 177A 4289,1 3291,4 3291,4 0 4 5 60 1986 6343 74:31:0102018:37 1 | MHOrokBapTUpHbI naHenb/x/6 NJIOCKaA | ueHTpaabHoe
6 |30 net BJIKCM 179 4297,9 3264,2 3126,8 137,4 4 5 58 1979 5390 0 1 | MHOrokBapTUpHbIN naHenb/x/6 NNOCKasA | ueHTpanbHoe
7 (30 net BJIKCM 183 992,7 916,5 788,3 128,2 3 2 15 1956 3378 74:31:0102016:1 2 | mHoroksapTupHbIA | Kupnuu/gepeso | ckatHas | ueHTpanbHoe
8 |30 net BJ/IKCM 185 689,9 638 573,1 64,9 2 2 11 1956 4046,8 | 74:31:0102016:29 2 | MHOrokBapTUpHbIA | Kupnuy/gepeso | ckatHasa | ueHTpanbHoe
9 |30 net B/IKCM 185A 3277,25 2398,75 2398,75 0 3 4 44 1984 2842 0 1 | MHOrokBapTUpHbIN Knpnuy/x/6 CKaTHaA | ueHTpanbHoe
10(30 net B/JIKCM 185b 1278,1 871,9 871,9 0 2 3 18 1984 1991 0 1 | MHOrokBapTUpHbIN naHenb/x/6 CKaTHaa | ueHTpanbHoe
11|30 net BJIKCM 187 983,2 909,6 909,6 0 3 2 18 1956 2889 74:31:0102016:28 2 | mHoroksapTupHbIiA | Kupnuu/gepeso | ckatHas | ueHTpanbHoe
12|30 net BJIKCM 187A 667 616,6 616,6 0 2 2 12 1956 1937 0 2 | MHOrokBapTUpHbIA Mpnuy/cmewaHHb| ckaTHasa | ueHTpasbHoe
13(A6noyHan a.4 668,2 618,6 618,6 0 2 2 12 1957 1842 0 2 | MHOrokBapTUpHbIA ppnuu/cmewaHHb| ckaTtHas | ueHTpanbHoe
o
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14|4kanoBa 4.118 4233,9 3234,8 3234,8 0 4 5 60 1993 5802 74:31:0102018:40 2 1 | MHOrokBapTUpHbIN naHenb/x/6 NNOCKasA | ueHTpasnbHoe
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15|4kanoBa 4.129 6606,5 4865,3 4865,3 0 6 5 89 1998 5654 0 §[ 1 | MHOrokBapTUpHbI naHenb/x/6 NAOCKadA | ueHTpasibHoe
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16|MponeTtapckas A4.35 941,5 879,9 879,9 0 3 2 21 1970 5380 0 | 1 | mHorokBapTMpHbIit Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
I
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17 |NponeTtapckas a.37 929,8 872,7 872,7 0 3 2 22 1972 2302 0 1 | MHOrokBapTUpHbI Kupnunu/x/6 CKaTHaa | ueHTpanbHoe
18|MponeTtapckas A4.39 1474,6 883,2 883,2 0 3 2 18 1980 1527 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
19 |MNywkosa 4.2 698,4 636 636 0 2 2 12 1956 2490 0 2 | mHoroksaptupHbIA | Kupnuy/gepeso | ckatHas | ueHTpanbHoe
20|MNywkosa 4.4 884,1 695,9 586,8 109,1 2 2 10 1955 3284 0 2 | MHOrokBapTUpHbIA | Kupnuy/gepeso | ckatHasa | ueHTpanbHoe
21|MNywkosa 4.6 561,2 515,7 515,7 0 1 2 8 1957 1985 0 2 | mHoroksaptupHbIiA | Kupnuu/gepeso | ckatHas | ueHTpanbHoe
22 |Kepamukos .1 1572,9 893,2 893,2 0 3 2 22 1980 3664 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
23|Kepamukos 4.2 1662,3 971,6 971,6 0 3 2 22 1979 4680 0 1 | MHOrokBapTUpHbI Kupnunu/x/6 CKaTHaA | ueHTpanbHoe
24 |Kepamukos 4.3 945,9 865,5 783,2 82,3 3 2 20 1968 2130,6 74:31:0114002:9 1 | MHOrOKBapTUpPHbLINA | KUpnuy/aepeso| ckaTHaa | UeHTpasbHoe
25|Kepamukos 4.4 951,9 870,1 791,6 78,5 3 2 20 1968 13750 | 74:31:0114002:15 1 | MHOroKBapTUpHbINA | Kupnuu/aepeso| ckaTHaa | UeHTpa/ibHOe
26 |Kepamukos 4.5 1143,6 1071,4 1071,4 0 3 2 24 1949 5032 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
27 |Kepamukos 4.7 987,6 904,1 904,1 0 3 2 22 1987 4013 0 1 | MHOrokBapTUpHbI Knpnunu/x/6 CKaTHaA | ueHTpanbHoe
28 |Kepamukos 4.8 1674,2 980,5 980,5 0 3 2 22 1980 2937 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
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29|Kepamukos 4.9 1687 994 994 0 3 2 22 1980 3303 0 1 | MHOrokBapTUpHbI Kupnunu/x/6 CKaTHaa | ueHTpanbHoe
30|Kepamukos .12 1672,3 990,5 990,5 0 3 2 22 1980 5494,8 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
31|Kepamukos a13 267,4 243,3 243,3 0 1 2 4 1985 1306 0 1 | MHOrokBapTUpHbI Kupnunu/x/6 CKaTHaa | ueHTpanbHoe
32 (Kepamukos n14 268,8 244 244 0 1 2 4 1985 2456 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe
33 |Kepamukos al7 267,3 241,7 241,7 0 1 2 4 1991 1247 0 1 | MHOrokBapTUpHbI Kupnuu/x/6 CKaTHaA | ueHTpanbHoe
34 (Kepamukos .a19 1645,1 955,7 955,7 0 3 2 22 1991 3707 0 1 | MHOrokBapTUpHbIN Knpnuu/x/6 CKaTHaa | ueHTpanbHoe

HUTOro 65074,75 | 49234,85 | 48431,25 | 803,6




